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K =k

4

X+ 1772 +91x+ 147=0

X +4—19x+14=0

X+ 9% —36x—324=0

6 — 29x% +38x—15=0

=T +6x=0

H #A:

507 — 6> — 80x+ 96 =0

5% — 6xF — 125x+ 150 = 0

3x° — 55x% + 284x — 288 = 0

X +42—12x=0

8 + 7 —10x—9=0
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K =k

W44

X+ 1772 +91x+ 147=0
x=-7,-7,-3

X +4—19x+14=0
x=-7,1,2

X+ 9% —36x—324=0
x=—6,6,—9

6 —29x% +38x—15=0
5
=13
6

x:

=T +6x=0
x=1,6,0

H #A:

o

5¢° — 6x* — 80x + 96 = 0

x:

DN N

—4,4

5% — 6x% — 125x+ 150 = 0
6
=,-5,5
5

x:

3x° — 55x% + 284x — 288 = 0
4

- 9,8
3

x:

X +42—12x=0
x=-6,2,0

8 + 72 —10x—9=0

9
x=—-,—1,-1
8

www.snowmath.com


https://www.snowmath.com

